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PAPER I

The following are the technology developmental phases.
Match List — 1 with List - I

List - 1 List - 11
(i)  Organizational Phase (a) Specific goals and
objectives are
developed to achieve

the vision
(i)  Assessment and (b) The technology planning
Analysis Phase feam is formed
(i) Formulafion Phase (c) Thelong-term goals are
achieved

(d) Based on the vision goals
and objectives, a
technology plan is
developed

GetTou(mHLemEU CISTLHEVHIL LI eueTTEF HlemsuasiT.
UL lguied I-gg U196y I 2 L 6T Glum(m&&eyLb.
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(3) 2-(HEUTSHEGLD Hlemev (iii)  IBETOTL &6V G608 (S 8&6iT
ST WILILIL L 63T,
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©)6V8 (& S6IT MHMILD
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SjgliuenLuiley, e(m
QB mP6LHILLISSILLID

2 _(HEUMGBSLILILLG).

A (D)-(a), (iD)-(b), (iiD)~(c)
1-(i), 2-(ii), 3-(iii)
B: (i)-(b), (iD)-(a), (ii)-(c )
1-(ii), 2-(i), 3-(iii)
C: (D), (iD)-(c), (iiD)-(b)
1-(iv), 2-(ii), 3-(ii)
D: (i)-(b), (iD)-(), (ii)-(d)
1-(ii), 2-(i), 3-(iv)
2 Given below are two statements related to evaluation system.
Statement (I)Formative evaluation is administered during the lesson taught or instruction imported

Statemet (II)Summative evaluation summarizes the final progress of the students as a result of a course of learning unit.
Select the correct option

LHULTLH WM QS TLTLTET G F60oT(® SoMHMIG6T HCL Q& TH &S LILIL (H6T6TeoT.

NGBS [ UTLGMS &MHLINGGLD CUMS 3j6Veual 3Mleymigsedler UMl eueTyml LHILILIH Bliau&&s IuGR DS
IMEm & II: OHTGSSM G LILTH) 6T6TLIS (H LIMTLSH 6T HMHMEL 160G &6 6T eflemarels Lomeuoreljaerfler @ miG)
(WDETCOTHMHENS & ([H&HSHDMHS Fo NIH M.

Frflwmer eN@BLILG CoFelener G5 Ta G&F UILIa]LD.

A: Statement (I) is correct but Statement (II) is incorrect

Famm 1 FWIMTETS SL6TMEV G MM 11 &6)MITETSI.

B: Statement (I) is incorrect but Statement (II) is correct

FaMm 1 HEUMITETS S,60TT6V o MM 1T FifluimeTs!.



Neither Statement (I) nor Statement (II) are correct

Fa oI T LDHMILD ammi 1T GFeoor(HLD FiflWimeTenel 3606v.

Both Statement (I) and Statement (II) are correct

Fnmm 1 LDHMID S MHmi 11 @ Tesor(RILD &l meoTeme

The level of teaching in which the classroom environment is active and provides opportunity for constructive interaction is .
AIGLILIENM GLp6v QFW6S6L 2 6Tem &MLIG 560 Bletev 21,88 1L, T T Q& ITL[TL| 88 Me0T eUMUILI6n LI QULDMHIGH 6 S
SBGLD.

A:

Memory level of teaching

&MLY5 569607 [B]60)60TAUS [Bl60I6V
Understanding level of teaching

&HLIS 5606 Lifl 560 Blaney
Reflective level of teaching
&HLI5560 6T LTS LLIL Blemey
Application level of teaching

&M% 56096 LiweTUmL () Blenev

is not a step involved in learner controlled instruction.

LOmeoTeUemn s &L G LILGSSID &L EE5 6060 LiedreuHLb

A:

Decision about the content

UMLLIQUMBET GMSS (W06 / SFLOMerLd

Decision about the initial behaviour

WPB6L Blemew BLSMS GMISS (P19 / BFOMerTLd

Selection and sequencing of learning experiences

HMHMEV VILIGIMBIGHNTS QS5fle] QF IS WemMLILGSSI6US!

Evaluation of the instructional process

Ml DIHH60 PemDeW LHULIE QFwLS6

LI [B160Y6V @) (H&&H TSI,

provides best opportunity for providing individualized and personalized instruction.

SeoflBLIT MM SeoflwimeT &MHLNE G (WenmemL aULpHIGaISMETeT FMHS aUmiilienL aIBIGRMS.

Brainstorming strategy
SMeS5TES 2 56
Tutorial strategy
LUWme 2 55
Assignment strategy
eluemLLL 2 55
Review strategy

MISLIe] 2 55

Select the Secondary Sources of data from the following :
(a) Publications of central and State Government

(b) Historical documents

(c) Technical and Trade data

(d) Questionnaire

Choose the correct option :

LY etraumeletaumniled (b &iye s erleir @ IeuorLTLD Blemey eLN6UEISeM6TS CHIHOS[H & & LD.
(a) DSH W MHMILD LOMHIL N T&Se 6T Qeuaflui® ser.
(b) GUITEUITMMI 24,6 6T0T MG &5 6iT.

(0 @gmiflevmi LI nphmilh ITSHSE ST6)

(d) efleor LI 1g ul6v.

Frflwmer aLULSCHTemer CHT6e| QFUIs.

A:

(@), (¢), (d) only

a,c,d DL (IO

(b), (c) and (d) only

b, ¢, DMHMILD d DL ()LD
(a), (b), (¢) and (d)

a,b.c, LDHMILD d

(a), (b) and (c) only

a, b, DMMILD ¢ LOL(HILD

To find if the deviation of the experiment from theory is just by chance or due to inadequacy of the theory, one can use :
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G&MLUMLIgeNBHES SMHAFWens: allevGH W CFMEHemeTWIT Vg GemUTL® Bleneuulleh G&HITLLITLIT 6TedTLIENS 2B
W LNeTeuBLd C&FMEHemeaTen ULl LIGHT LM SS6VTLD.

A Sign Test
&G s ey
B: Mann Whitney U Test
GLoetT - el 6ot W, G516y
C: Test of goodness of Test
Fiflwimeotg HeoTMI 6TeoTs S DMeo16 &G CH ey
D: Test of Significance
WER WSS &Henoll& @G0 CHiey
In an experimen research, the investigator is

R(H CFMHemeoT &, TTULFRUNG, QT TUIFG WITeTT aLa10.

A': an extraneous variable
Qeueflliy omadl

B: aninternal variable
2_dTememin

C: anintervening variable
GmIsE0

D: anindependent variable
seflggien

The purpose of is to improve a product or process by testing theoretical concepts in actual problem situations.

QbS SplieNler GBITESLINMeTS QalefliiLm® HMID LU16)] (NN (ETCTHM BIRGSTalF @Lpedley
HHSIGMIILS6TE CFMHEn6T QFUISTEGLD.

A: Fundamental Research
QLU U6y
B: Applied Research
20 gD NPASTE Senmuile) Geneuruibd Spiey
C: Action Research
QFWLHLL ayliiay
D: Experimental Research
CFMGHem6nT FMTT Y Ul6Y
Given below are two statements one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A A sample survey is usually extensive in scope

Reason R Therfore, both in the number of cases included and in the manner of their selection, it has to be adequately and faithfully representative of a larger
population.

ECL Q&ETH&SHLILIL(H6T6T @ I6uoT(h) FonMMIG6T R60TMI Fn MMl A 6T60TMILD LOMHGMTEITMI S ITT6U0TLD R 6T6dTmILD

G &SLIUL G 6Teng.

Famml A: @@ LTHF] Q6] QUTSIEUTS LITHS l6Telley @) [HaELD.

SITIeTLD R: 6TeorGau CFI&HSHLILIL L ULp& & & 6rflai eTettevoll&emas Wilayiin nmmild Sjeummled & e enmuilaid, @& 6
GUIMSILOMTET LOMMILD 2_6UoTem oW 66T 2 mILILG Q& TengGean Wl LNTHBISHSsIalILOSS Causuor(®LD.

A: Both A and R are correct and R is the correct explanation of A
A MO R @IeorGIh Fiflwmerenel LDMMID R 6TedTLIG A@)6oT Fifluimest aflemg&1n.
B: Both A and R are correct but R is not the correct explanation of A
A LDMHMILD R @) Fesor(BILD FfIWITETemn 6l 8,60 M6l R 6T6dT LIS AG)\60T Fiflwimeot aflemdasid §)6Ven6y.
C: Ais correct but R is not correct
A FlLIMTEITS! SLE0TT6L R SaUMTETS).
D: Adisnot correct but R is correct
A SEUMTETSI 36076V R FiflWimeoTal.

is the one about which the prediction is made on the basis of the experiment.
ereTLIgl LIFlGFmgameoTulledr &iq LiLen L uf6h &eooflli QaWwiL@G LD @6aTmTELD.

A Independent Variable
SH&TFey Ll

B: Dependent Variable
Fmyy wmm)

C: Controlling Variable
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SLEUUT®

D: Extraneous Variable
Qeuerflliym wmm

is a group discussion in which all groups, members are virtually present and communicate at the same time.
STETLIS @ & (W elleumsLd, GH6V S eMeTH SIS & WSS EDBL, 2 MilIllariseEbh LSS L @G ChISH e &bl
Q& meuoT(h QGTLITL Q&TETRMTI&6T.
A: Verbal communication
mUQWLTS Q&TLTL
B: Synchronous communication
RSHmFa)
C: Non-verbal communication
QEFMM&HET ALVVTH QGITLITL
D: Web forums
6UEBY6V LG0T (D MM & 6T
Recognizing, understandings and addressing the interconnection of relationships and communication is :
2 MEGHEHEGID OSTLILEGLD GenLulemer @ enemnrlianl HhIB&HEH560, LlbsI0&HMeTEr5H60 MM $ie & memi s e
GTEOTLIG)
A Engaged listening
FOUTLBHL6T CHLLSI
B: Disengaged listening
FEUTLGeTH GoHL LS
C: Therapeutic listening
FRFF FTIHS CHL_ LIS
D: Relational listening
2 mey FMNJH& C&HLLIG

is in need of the ethical reflection of the thinking and acting individual journalist who decides the course of mass communication.
QauGRaTs QsMLFLWeSer GUTHensS §Iinmeils @ Fbgemer MmN QF WL Seoflliul L LSS flengwimerifler
QBEMIWenm LATH LIedLiL 60 CamalliILGHRMmS.

A: Contemporary Journalism
FLO&TEL @&LOUWI6
B: Existential Journalism
QOGSS60We QFlwie
C: Information and Communication Technology
S5 IDMHMID QSTLFLTE QS MSlevBIL LILD
D: Artificial Intelligence
QFWMHEn S IHievoTeoor 1l 6y
The responses of the receiver that shape and alter the subsequent messages of the source is

QUAIBHET LBE, WSS 6T ADS5SHSHS OF LIE ST AILaIMIISS LOTHIIS!

A Receiver
QuUMILIeT
B: Feedback
LNedremm_ L
C: Noise
QNTFF 6
D: Channel
BF60T6L

Which of the following is NOT a characteristic of traditional mass media organizations ?
LY edreumeuesteumnilev 6rg LMLKW Q6@ eg60T 26L& [B] mi6u6or i85 6l 60T R mLILNWeuL] S606v?

A Complex and formal organizational structural
G185 8560IT60T LOMMILD (LLENMUWITE [BlMIGU 60T SemLDLL]
B: Reliance on a single gatekeeper for content approval
2 GT6MTL &8 @LUILSNGHG emhenm G Glitieny BILNulmps s

C: High operational costs
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AH& QEFWLTLH QF6evese6r

D: Strong Competitive environment

aUsvIeUTeoT GLIMLLY (& LO6V

If é of a pencil is white, % of the remaining is black and the remaining 3 % cm is blue, then
the total length of the pencil is :

@ GlusttéleSleor é ursl Gleusemer HIMLD, WBH LTHEGHSH60 % UIT&sLD

smenw Hmb wHmib WBewsrTer 3% Gl&.b. umsw Hev B eresflsv

Gluetr&leSlear CloME S, Herb ;
A: 8cm
8 QF LS.
B: 16cm
16 Q& LS.
C: 4cm
4Q&.08.
D: 12cm
12 Q& LS.

The single discount equivalent to a series discount of 5%, 10% and 20% is :
5%, 10% LOMMILD 20% 6T60TM QIGITLIT H6TEBHLI &G FLOLDITEOT 62M60M H6TEHLI UITETSI:

A: 35%
35%
B: 30.6%
30.6%
C: 31%
31%
D: 31.6%
31.6%

If the selling price is doubled, the profit triples. Then the profit percent is
aflmLene aflemevemnl @IL19865M60 E6VMTLILD (PLDIDL MHIE &G0 GI'GO‘ﬂGU ST QL FHNHGID

A
662
3
2
6éé
B: 100
100
C: 1
105
1052
3
D: 120
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The sum of three consecuture number is 39, then the sum of next three consecutive number is :
QBTLFERWITET eLn6dTM 6T600T8 61160 G L () & B Tem & 39 6T6vt16v, 3D &S CLOEOTMI QG ITL[FE G ULIT60T 6T600T8s 61l 6T
Tl DSOS TMSH

A: 42
42
B: 45
45
C: 47
47
D: 50
50

Find out the next number in the following series

544,509, 474, 439, ....

ereudid auflenaulley B &5 eT6oTen) 60018 & 60T (HILILILY.
544,509, 474, 439, ....

A: 404
404
B: 414
414
C: 420
420
D: 445
445

Read the information given below and answer the question that follow :

(i) There is a group of five boys

(ii) Ravi is second in height but younger than sankar

(iii) Kanthan is taller than Gopi and elder to Sankar

(iv) Gopi is taller than Murali but younger in age

(v) Sankar and Murali are of the same age but Sankar is tallest among them.

If they are arranged in the descending order of their height who will be in the third position ?

GECL Q&EMTH&&ILLGETET alleuImhi&GemeT LSS s QFTLIHS CaLasLILL (heTer CaetallsE LFlaveflgasean
(i) BB P MIAITHEET Q& TEUOTL (H (LD 2_6TeNGl.

(il) @ el 6T60TLIGUEIT 2_WITSHH 60 @) T600TL UGS T LD SL,60TIT6V FhIG 6T 6l @) 66T LG 60T T8 6D 2,61 60T,

(iii) 85155 60T 6T6TLIGUGT G M6 el 2 WIFLOMETaIsDILD DMHMID &FhIG(H&E LGS SHEUETILD S,6M M60T.

(iv) B& ML eTedTLIGuET (LnFerfleml el 2 WITLDTEOTEU 6T SY,60TT6V 6UWIG6V @) 66T UIGUEDT 2,61 TE0T.

(v) FBIS@GL WIeflud 55 alGINLLAITSHET SauFserfley FmisT e 2 WTLnmerell.

SL60TITEL @)6UFS6T, 2 WIS 6T 2 LiLenLuley @mmbiG auflenaulley auemnssLiLI(h &S 606V eLRGTMITID @)L &G 6V Tl
@@L ?

A Sankar
FBIGT

B: Gopi
GamLl

C: Kanthen
&b 60T

D: Data Inadequate

5J6) GUITSILDMETH TS ©)6V6M6V
Smitha runs 10 km south from her flat, turns left and walks 23 km again turns left and walks 40 km then turns right and walks 5 km to reach her office. In which
direction is the office from her house ?
s T Hersl G WELLO MBS Q5MHES 10 &.S. @14 @LaILMD HGLLI 23 H.15. FLHBSI W@ b GL&ILmb H G
40 B).18. LB LM auevgiLmid S HLDLN 5 GBS, BLIHSH H60TSE VIS SMS CQF6TMENLHSTH?
Sl6U6T e 1960 @ BHS aeleusLD 6THSE HenFuilev 2_6Terg ?

A: North
ALES
B: East
B&EES
C: South west
Q&6 GLMG
D: North east

QL P&
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Five friends are sitting on a bench in the following order :

(i) P is sitting next to Q and R is next to S.

(ii) S is not sitting with T; T is on the extreme left hand side of the bench and R is on second position from the right hand side.

(iii) P is on the right hand side of Q and to the right side of T. (iv) P and R sitting together

Who is sitting exactly in the middle ?

®bSI HevoTLIF&6T LleTeaubLd euflemauilev (b QLIEFI60 DT HES (SR MTIEET.

() P eTedTLIOUT Q && ABHHRL LDMHMILD R 6TedTLIOT SHEG HBH L DT HH HHHMTIEHET.

(i) S eTedTLIOUT T @L60T nFaileuemev; T eT6dTLIGUT QLIEHFI6L @ LS LIMSH 6L S6m L RLTSHE|D DMHMILD R 6T60TLIAIT eU6u S
UMES O GHS @UeorLmeugl @L &G0 SADFHSIETeT a6,

(iii) P eT6dTLIGUT Q&G aUeLSILMSTavID LMHMILD T 6T6dTLIeUT{160T U6V & LIM&S B aVILD SIL0F HSI6TETTIE6T.

(iv) P LDMMILD R 6T60TLIQUT&HET 260TMITE 0T H&I6TeTTI&H6T auflenguley mHedev Fflwimg SnIHSH G LILIeUT WITF?

A: Q
Q
B: R
R
C: P
P
D: T
T

Aruna cut a cake into two halves and cuts one half into smaller pieces of equal size. Each of the small pieces is twenty gram in weight. If she has seven pieces
of the cake in all with her, how heavy was the original cake.

S|([HEUOTIT 6(1H BT E:6015 @) T6O0TL TS GlaUL_IQ60TITI. 62(IH LITHemL &L {66 &ermd: Gl Si6uor(H & 6emTe: GleuL 1q 6Ty,
Q61Q6eUTH AW SietoT(HID @BLS SBITD 6TenL& Q&ML gl SjaleflLb QLTSS (L CHo Si6uoT(h 86T @) (HHSH TV, 2I&F 60
G885 6TEURIETE) &HEOTLOMTS @) (HIHSHSI?

A 240 grams
240 S\JTD
B: 120 grams
120 K ymid
C: 140 grams
140 ®\ymib
D: 280 grams
280 @FITLD

In the given Venn diagram which region represents dancers who are also singers but not

school sfudents ¢

Spssran|d Gleustor suenyULSHIEL  L6Terfl  LDTEwTEUTEV6VTS  [HLETT

&606V(6hT&6T LOMMILD LITL&T&HEM6T (HM& &0 LGS 61817

BL_GIT SHEDAV(EHJI ST

m o w W
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A
A
F
F

In a pie diagram sum of the angles is :

QL elleng s LILL G5 60T B8 MetoTd S 6T dol (H &6 EMTen s 6T60TLIS! GLD.
A: gqo
90°
B: 180°
180°
C: 3400
360°
D: 100°
100°

The technique of increasing the representation of a subpopulation in order to avoid errors due to small sample sizes is called :

AW I 2eTey &TFaornns Lenpsamers STLILSH&TE @@ (DWeng Q&TE&GHUler e LITSBISH W
2P &F&GD e

A: Over sampling

S15s LIHF W
B: Under sampling
Gamme| LTHIF wenm
C: Representative
HrSp&ssieub
D: Data cleaning
BI6USHEET CHISEWITESSED

In sub-divided bar diagram different parts are drawn on :
FamILL el eNlem&aLILL G560 QalalCaln LIGH&6T s s Qamer( e TWiILG&SmS,

A Absolute figures
(LD(LDEDILDUIITEOT 6T600T600118560) 5
B: Percentages
alWa&sTH
C: Absolute figures or percentages
(LD(LDED LD UIITEOT 6T600T600 16078 21606V S Al &S T(H
D: Angles
@& IMeor LD
In a frequency distribution, when the class intervals are fixed so that the upper limit of one class is the lower limit of the next class, then it is known as :

(b HHRLDG66toT LITaUedl6 (frequency distribution) 6U@& LI @emLQeueflags6T FflQawliu@mn CUMS, (b euGLILN6T GLD6L euIFLDL|
BH &5 au@ L6 BLp euums LU

A Class limits
LNfley eTévemev
B: Exclusive method
2 6T YL E&HMSH (MM
C: Inclusive method
2_6TemTL &S W (hemm
D: Same method
3ICH D

A study based on complete enumeration is known as :
(LD (LDEDLDUWIITET &600Td6 & B 1L 6607 60)LOWILDITE @& T60oTL 2, U6 TEOTS eTeoTILI(HILD

A: Sample Survey
a3 JRETRTY

B: Pilot Survey
(PETGETITIY 2 Ul6



C: Census Survey
DG GH6T QB TeNSH 560016 & (HILIL]
D: Both Sample Survey and Pilot Survey

() LHDID (B)

Services at e-Pramaan includes :
(i) e-authentication

(ii) Single Sign-on

(iii) Issue of Certificates

(iv) Payment Service

e-pramaan-63T GFemaUG 6T LN 6dTau[HLOmmI:
(i) O 6DT - QBIBEHTITLD
(i) ROENM 2 6THIEMLOE]
(i) FTETM G LD & 6T 6ULD IS 560
(iv) SL_L600TLD QFNGSILD CFemeu
A: (i), (ii) and (iii)
(@), (i) LOMYLD (i)
B: (i) and (ii)
(i) LoD AILD (ii)
C: (iii) and (iv)
(iii) LLOOILD (iv)
D: (i), (ii) and (iv)
(@), (i) LOOALD (iv)
The application developed by the ministry of electronics and information technology and National E-Governance Division to drive mobile governance in India
is:

LA 6BTEsTEmI LOMMILD &I QST EIL LI SiemInFFSLID InMmmIh CHRAW Ll6TaLEhenn S LD 3FH Uieneal ) 6m6uTHS
QLDITEOLIEY S| J&FTE00Tem D& MTEH SWTHHS G LD6TE LITHET TS

A Jeevan Praman
eSeueoT LI Lo meuor
B: Digital locker

1860 QUL L&LD

C: UMANG
UMANG
D: Digital Life Certificate
LA 63T QUITLDIBITGT & Mot & LD
VOIP stands for
VOIP eTeOTLISI

A': Voice Internet Protocol
Voice Internet Protocol
B: Voice Information Protocol
Voice Information Protocol
C: Voice Over Internet Protocol
Voice Over Internet Protocol
D: Voice Over Information Protocol
Voice Over Information Protocol
A Collection of learning content based on a single learning objective is called

MM HMHM6V CHITHHSMS I LILINL LTSS C&TeoTL. &MM6V 2_6T6eTL &8 MI&6rler Q&mEGLIL| GT6OTM)I
IOPESELILGHRMS!.

A: metadata
QWLLIT 56y
B: interactive object
oerl_mHID GILIMTIH6T
C: learning object
SHMHMEL QUITIH6T
D: teaching object
&ML SH60 QUITHET
Which Statement (s) is/are true about PPP ?

(i) PPPs are concerned with services, not assets
(ii) suitable for all projects



(iii) PPPs are novel method of developing public infrastructure

(iv) The Government does not need to own infrastructure to deliver services

s aevor LALNL)- Limmlw semmigerfley eTemel 2_6ooTem Lo W TeoTem 6 ?

() WA eresTLIg GFemeudener LMMIWLS QFTESIHEHEn6TL LIMMIWLS (6060

(i) SIMETH S B LIS EHSHGSLD gJHME!

(iii) LYY eTedTLIG QUG 2_6Ts L LemLnLiemn L GO LIS S!I61 &M &TEOT L|SI6mLOWITEOT (LDemM

(iv) CFMEUGHEMET QUPBITHL, T8 QFTHSLOMET 2 &L LemnLIL] em6usS S (HoEe Geuetoriq il el LD E)evemey

A (i) & (ii)

(i) LDOMILD (ii)
B: (i) & (iv)

(i) DO DILD (iv)
C: (i) & (iv)

(i) LD DILD (iv)
D: (i) & (iii)

(i) LDMHMILD (iii)

Match the following.

Coastal length of states of Indian peninsular.

List-| List-I

a. Gujarat i 300 km

b. Karnataka ii. 200km

c. Tamilnadu ii. 1014 km
d. Andrapradesh iv. 1600 km

EnHu Sushusslaearar ST WTHleum saflasrar LT Hemisaflar SjaTansay
Glumm s 5 .
oL euemesor | = suemeser |l

(o) ©zrTs (1] 300 &6

(o) SIBILST [2) 900 &L

(c) sUIDmT(H (3 1014 &L,

d) ehilrislrGsesn (4) 1600 &6,

A a-iv, b-iii, c-ii, d-i
(2)-(4), (b)-(3), (©)-(2), (d)-(1)
B: a-iv,b-2,c-1,d-3
(@)-(4), (6)-(2), (0)-(1), ()-(3)
C: a-4,b-1,c-2,d-3
(@)-(4), (b)-(1), (©)-(2), (D-(3)
D: a-1,b-2,c-3,d-4
(@)-(1), (6)-(2), (&)-(3), ()-(H
What was the binding target year to phaseout the HCFC as per Montreal protocol ?
o mevsor L_flwieh eIl 5SS 60T LIl HCFC (e SiInmas QeueflGumm eliL|d Q8 TeooTL 2,600T(H) 6T60T60r?

A January 1, 2020
sgeoreuf] 1, 2020
B: January 1, 2015
sgeotaurfl 1, 2015
C: January 1, 2010
sgeoraurfl 1,2010
D: January 1,2004
syeoreuf] 1, 2004
Minamata disease is caused by :
LSlesTeoTTOML LT GBTWI gLL &TFetoll Q@D

A: Lead Poisoning

&miful HEhs
B: Carbon monoxide

STITLI6T GLoMmeoT T&:end (b
C: Mercury Poisoning

UTSI& BEhs
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D: Micro plastics
516007 QB&HILS & 6T

Match the following :

(1) Apnea (i) Loss of feeling
(2) Asphyxia (i) Cessation in breathing
(3) Anesthesia (i)  Difficulty of Oz supply to tissues
(4) Anoxia (iv] Stoppage of pulse
Choose the correct matches :
QlummsgIs:
(i) eussflwm (a) = ewryed] @iy
(i) ep&es Slewrpsy (b)  seuTESSIEL HNISHLD
(iii) oyevrenOBEF WLIT () dlxssEmrsE 0:
suLpmIGHeuSHls0 FFLoD
(iv) =iGeormsenSlwum (d)  sply BIMISs0

Fiflwnest GlUM RS SMISmsT GHIHeISHH 5.

Az (D-(iD), (2)-(v), (3)-(D), (4)-(iii)
(©.(b),(i). (d), (iid). (a),(iv). (¢)
B (Db, (2)-(iv), 3)-(id), (H-(i)
(©-(c), (i). (d), (iii). (b), (iv). (a)
C: (D-(), @), (3)-(iii), (4)-(iv)
(®. (@), (ii).(b), (iii). (¢ ), (iv). (d)
D (D-(iv), (2)-(iii), (3)-(ii), (4)-(i)
®. (d), (D). (¢ ), (iii). (b), (iv). (a)
In which state Indian women's are actively participated in Chipko Movement ?
6THG LMTHlVEGH L GBS WL QLTS FILIGHT QUESHSH L HallFMsL LIRS HE&SH6rT

A: Himacahal Pradesh
@urFFell ITCHEFID
B: Uttar Pradesh

2 5570 NyCseih

C: Manipur
Lo6oofILILLIT

D: Haryana
amiflwmeorm

Given below are two statements.

Statement I : Higher Education provides people with an opportunity to reflect on the critical social, economic, cultural, moral and spiritual issues facing
humanity.

Statement II : It contributes to National development through dissemination of specialised knowledge and skills.

Choose the correct answer from the options given below :

ECL @ TevoT(h) 6UMEHGRWIMIG6T Q& TH & o LILIL (H eTermeor

QMGG LD 1: 106flE&evld THTQS&METEBLD (NEHSRWILDTET Felnd, QUITBETTSTY, HEVTEFSFTT LMD STTLWSE WMHMID L6585
F&SHEmETL LD A ESH &S 2 Wi Hevall 106&5EHSHEG aumiiliueflsEHmal

QAMGGEIWLD 2: @& FmUiL HenpliL| InHmILD HmeiT&HemarTLl LIFLILeIS6T epeuld CSHAW auemTid& & LnkiseflaSHmal
Fflwumer QTGN BHES LS &amaT Qsfla) Q& iweab.

A Both statements I and II are correct
QTGS WD T LMHMID euMEGSRWILD 1T @ Fevor(id &Fifl
B: Both statements I and II are incorrect
QUMSSEWLD I MM eumdSH Wb I @ Fesor(HLd &Fiflwevev
C: Statement I is correct and Statement II is incorrect
QIME&GE WD I &fl InmoId eum&sG WD II Fiflulevuey
D: Statement I is incorrect and Statement II is correct

am&&E WD I Fifluwevev Mo eumsGHwih 1T &ifl

The First International conference on Environmental Education in India was held at ,in 1987.
@bHwmailey &HmEF Gpe Hevall GNMES WHMaGS FTalCsE LOMBTH 198760 6 BELQUMDHMS!.
A: New Delhi

LIS evel
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B: Hyderabad
QNS TTLIMS
C: Ahmedabad
IIGHOGTLUTS
D: Mumbai
(pLenL
Which of the following Committee suggested the public spending in education should be 6% of GDP ?
LN GETET QLTSS 2 6THTL(H 2 HUSH UL 6% QFevalflgs CaleT® LD 6TeTmi Ll6TauBLD 6ThH s & W LFhSIenTsHES!1?

A: The Kothari Commission (1964-66)
C&MESM G (1964-66)
B: National policy on Education (1986)
CHAW Hevalld QGTaTen g (1986)
C: The Education Poilicy (1968)
56065 Q& TeTen s (1968)
D: Review of Education Policy (1990-91)
&Havals Q& meTenaUler LHLILITUIE] (1990-91)
is not the component of RUSA.
RUSA @)60T &a. 0l G)6V60160.

A: Infrastructure giants to universities
LIV&E06VE &G MG EHE S 2 6Ta L L emLDLIL] LOM6oi I 6T
B: Faculty improvement
AWy Cobur@®
C: Student scholarship
Inmeorel 2 s6ils Qg mans
D: Vocationalization of Higher education

2 wisaaluller Qs mSleLoWInmTE:&He60

Case Study from Question No. 46 to Question No. 50

46

PASSAGE

Computer technology has dramatically changed the landscape of business communication today. It is fast, annihilating the barriers of time and space and the
concept of our world turning into a small global village now appears to be a distinct and near possibility. For it is now possible to communicate instantaneously
with people inhabiting the remotest places possible.

To get a clear picture of the changes that have taken place, let us compare sending a message through a letter, with an E-mail message. In earlier times, the
manager dictated the letter to his secretary. When the secretary brought it typed, he reviewed it, revised it and got it retyped. In all probability he again made a
few modifications and got the final draft typed. The envelope was typed too. The letter was dropped in the mail and was delivered at the destination several days
later. The whole process was quite cumbersome and time-consuming.

Let us now think a situation in which two persons have the facility of two computer terminals connected on a network. One of them types a message on his
computer. He can edit it, alter it or reword it as many times as he likes in no time. When he is fully satisfied, he just presses a button and the message is
immediately transmitted to its destination. At the other end, the receiver can open the mail, read the message on the monitor and immediately respond to it, or
attend to it at his leisure. The whole process takes hardly more than a few minutes.

Fax, Voice mail. E-mail, cellular phones, video conferencing etc. are some of the computer based media of communication.

uss

Sevofleof] QG TN6LEIL LD @)6dTm) e16t0il8 HHaIVQSTLTL &6 ler BlevliLrlienu eflgs s Wwenmuley nmmmluleTers. @ s
GeaussLh, GBI LnMMID @)L SFH6T HemLSem6T 3G alBRMS, CLad HLNG 2 &L e Al 2 usearmaill ST
LOMMILD 6T60TM &([HS S G LICLIMSI @(H &evflgSalnmeT MHMID S|(HHREVETET FMEHER UGHIMNTES QSFRMS!. G erefle,
QBTENLSTT E)LI&6M6L UFHGLD D& & EHLEOT 2_L 60T WITS QST Q& meTeug @UCUNE &FMHH WD MEGLD.

@56 Bhemngd &MHM gHLIGID WTHMmSemSL LD Qg eflaurms HMHSHE Q& TeTeT, R &5 eLpeVh R QF LIGemnl

I ILIL|6UeM G, Ll 60T60TEH&F 6L QF IS UL 60T L ILNHIG6UTLD. (LNEITET T GLDGVITET HE0TS QIF LGV TET(HEE 519556058 Fn
QEFWLTETT MG S LFF QFUISI, CLTETT emngs HHSH W Lm@ Wear(GIb S LEFF QFUIS @M alemnrenel HL Lo
QFEWSTY. Sauflauid S LFHF QEFWWLILL LS. SIS0 SLmedlev et @), LUev BTl &ehsGL Nm@& QuabilLLh
QUIPMBISLILL LS. (PW QFWeWeammw b &6 F&&Heumars MM GBS S 61(h 5566 & METEHLD.

@@ QBLQaUTT&HER @) emeors:aLILIL L @) Tevor(h &6ooflel] (L6 6oT U i & 6rfleT 6uaSHemil @) T6oor(h) [HLITE 6T G)&Tesorq.(H & & LD
GLpBlemeveml @ LIGLITE ABH LIGLITLD. 3j6uiserflel pheul Seral sevotlenfliley (b QF UG e FL L &S QFWRMTY. 36Ul
MG LIV HBSS DTHMETLD. e (W BGLS ML BHSSI, Sl @@ QUTSSTOT (WSS 6T, QF S

2 LTS 56T CFHLILSHHES e ILILGSRME. LnMINeneTuiley, QUMILIOIT SEhFanevd Hmb& meofllLiflev

2 _dTem QFWH WL LIS 2 Leriguwns: LFlevefle:aserid 96veug Sleurs @ule] ChIsHH e &s 56U6fl&ae6IT. (DLW
QEFWeWmMULD Flev BIALMISHEF5E CLO6L 6T(H & ST

Fax, Voice &|@€h&F6V. LI 60T6UTEH &6V, QFLaNeVTT QFTeneuGBLIT), e6fle:&TL & &H6eubHSenTWITL60 GLIMTTMmemal &6voflLIQ LT
FMIbHS HH6U6V QGTLITL| &FTSH60T R SH6TTSLD.

What happens at the receiver's end in computer based communication ?

Sevotleofl o1 LiLiemL_ufleumenT H&H 6160 QS TLTLN6L QUMK @)L &5 6L 6TetTatT Bl&HLLERMS?

A : the message is printed and delivered by mail
QFWIH 2jEhFev epeuld HFFLLILLG aupmisLILGSmS!

B: the message can be read on the monitor and responded to immediately



47

48

49

50

Qe WBemw meofllLiflev LIgSS 2 L eriquimss LiSleverflégeumin
the message is stored in a physical folder

QFWH e CUMeLflev CFLAGSHLILGTR MG

the receiver has to wait for a few days to read it

IS LSS QUMIBT Flev BITLG6T &MHH [HE8 Causuor(® D

How has computer technology changed the context of business communication ?

Gevoflenl]l Qs MSleLEILLILD 6160118 S&HaIVRSTLTL| G LOem6V 6Teualmmi Lomm ] eTerg?

A:

it has made communication slower

@3 HEHAILQSTLTaU QLOSI6ITHS W 6T6Ts

it has reduced the need for communication

@8 HFH0I6V QSTLTLIGHETET CHemalenl &6MMESI6TenSl

it has dramatically improved the speed and ease of communication

@8 550G TLILN6T Coudsgens b erefleminenwiu|b eSS ES Wenmuiev G LG &S U] 6Tersl
it has made communication less effective

@8 HHAIMQSTLIML GMMIbES C&F WVTHMET G186 &TS 2,8 5 IL6Teng)

What is becoming a reality due to advances in communication technology ?

QaMEBIL L eueTFERUIN6IT &TI6OTONg S&H6160 QGTLILI6 1% WSTTSSME au®HERaTms?

A:

a work environment without problems

LNr& R em 60786l @) 606VMS LIGuol & & Lp6L

the world becoming a small global village

2 QG @@ FMlW LL,ECS&HTT SGITLOLOTS DMMIH6)
physical office spaces becoming obsolute

I avaleus @)L mIGefler GHemal LnemMBS aUHR MG
reduced use of computers in communication

B556160 QG MLFTLI6 &evoflell el e LiedrLIm® &enm&ev

What made the earlier method of communication through letters cumbersome and time consuming ?

(LHEG L 55195 BIGHET CLOEVLDITET H&HEU60 QSTLITL| (LML F&HEHMaTSTHa D, GBS MG 6T(H &5 66 & TETal S TS 6D

ERIG 6TSHI?

A

the ease of typing letters

FHFHIGHO6T FLLFFH QFLauB6 eTerflenin

employees refusing to send letters

S HHIGET eI LDMIGEGLD 26T SluliF&seT

sending letters via fax

QB M6V aUSIWITE &1 &I eM6T 2 6Il1L|560
multiple steps involved in the process such as dictating typing et cetera

595555 G LING MG SL.LEFF QFUIaIS CLITEIM Q&FWEILIML L6V 2_6T6T LIV LILG.&H6T

Which of the following is not a computer based communication method ?
LY edreu(euesteumnilev 6T & 60016011 419 LILI6) L UN6VITET H86U60 QSTLTL (LM {6V6V?

A:

C:

D:

e-mail

L 65T 60T (65 &F 6V
fax

Q&TenI6V 5560
postal-service
SLIMTL-GFemal
video-conferencing

aflq GUIIT &ITedTLIT6T &I MBI



